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1. How many legs does an arthropod has?
(A) eight legs (B) six legs (C) four legs

2. How many body sections does a Spider has?

(A) three (B) four (C) two

3. What type of metamorphosis has only three stages?
(A) Incomplete (B) partial (C) complete

4. Which invertebrate goes through incomplete metamorphosis?

(A) cockroaches (B) toad (C) butterfly

5. What is an adaption in which an animal looks and sounds like another animal
called?

(A) Matter (B) Mimicry (C) Camouflage

6. What is when an animal’s colour, shape, or pattern blends in with its
environment?

(A) Mimicry (B) Adaption (C) Camouflage

7. What is the part of a plant from which a new plant can grow?

(A) stem (B) seed (C) leaf

8. What is the first stage in the life cycle of insects?
(A) egg (B) larva (C) adult

9. What is the air that enters the body called?
(A) wind (B) carbon dioxide (C) Oxygen

10. When humans breathe they
(A) exhale (B) diaphragm (C) inhale

11. How many body sections does an insect has?

(a) 7 (b) 3 (c)2

12. How y body sections does a spider has?
(@) 7 (b) 3 (c)2
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13. What do reptiles breathe through?
(a) mouth (b) lungs (c) gills

14. How many groups of invertebrates are there?

(a)9 (b)3 (c) 6

15. Which group of invertebrates is the largest?

(a) invertebrates (b) Arthropods (c) mammals

16. Which group of animals does not have a backbone?

(a) grasshopper (b) vertebrate (¢) invertebrates

Choose the correct part for the diagrams below.
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